1. Install the brackets to first Battery. Upper Left racket  Bracket to st Battery
Battery top cover where the lables G o
are pasted should go to wall, and
battery bottom faces outside.
Refer to the multi-angled pictures N e [
to determine and align the 4 ] setry otan r:;; _fﬂ H Tl eoteyeoton | =
brackets to their right positions. [[E -

Bracket to 1st Battery
Mé6x12 Screw

S - o” Upper Right Bracket

H L]
o Lower Right Bracket
] - . -
!..-__\.:. '_'.-":. i;:il h ) f|
Bracket to 1st Battery ) ; . ' 11- T
Mé4x10 Screw I:_.':"b .
- i 1
- "=
Bracket to 1st *” :
Battery M4x10 Screw
Right Oblique View Left Oblique View

2. Install the first battery to wall

Expanding bolts hammered into the wall e

‘:'.:1? ‘?:;L e e —
A i, L
1
_]
¢ Battery Bottom
L
&= o, . -
Ay
Right Oblique View Left Oblique View Right Oblique View Left Oblique View

3. Install connection boards to first battery

o g I
e LRt
i . ! "
e R : iR e
ol S 2 PO
—_— a T . H
- o HH’L v
=
Lower Connection = ___.-'_'_i = 5
Board -"__-":"I-
, ‘ [':_‘ - #
||
- &+
t'l. " 1} *
X .__l,..-ﬁ Battery Bottom \ . I . . Battery Bottom o Battery Bottom am
\er I
2 , \ T I
] . warledd Lt
< e i i .
- ' - . -
' I l-i'f", Lower Connection a-ii."blg’t et L by [;.-\.l‘m
- LR ' Board i ™ -
" . .
. e R 2 i f__.h
M4x10 Screw . .. -

. N .-.
SagreTea o

L] r -J partially tighten

LT
b

M4x10 Screw d

Right Oblique View Left Oblique View Right Oblique View Left Oblique View


https://manuals.plus/m/37965ca076628dc65bd91dac65c2a7cfa6750d8533c986abaf94d8f6e0eb3fe5

4. Install the 2nd battery

2nd Battery to Bracket
Méx12 Screw

2nd Battery to Bracket
M6x12 Screw

T Tighten

Mé4x10 Screw

Right Oblique View

Packing List

Left Oblique View

Expansion Screw

Specification Picture Remarks
. 27x187x291mm & :
Upper Right . # ] Connect two batteries at
150215100215 | g1 et 1 E@iXHZ;SD(;X“AémCh Upper position,then to wall
27x187x291Tmm T
3 .
2 (150215100233 | Urper Left 1 1 1.06x7 36xT1.46inch > Connect two batteries at
Bracket (WxHxD) e Upper position,then to wall
. 53x50x60mm
3 [150215100217 | Lower Right 1| 2.09x197x2.36inch @l |Connectisthattery,
Bracket (WxHxD) I then to wall
53x50x60mm
Lower Left , 25 Connect 1st battery,
4 1150215100220 Bracket 1 | 209x1.97x2.36inch ) then to wall
(WxHxD) L
27.5x60x100mm ks
Connection . Connect 2nd battery to 1st
S (150215100224 2 | 1.08x2.36x3.94inch i
Board (WxHxD) 3 battery at lower position
M6x0.5"(12mm) .
5 . Upper Right & Left Brackets
6 Hexagonal 8 |1SO10644G-2014 — | e
cylindrical screw
4pcs - Lower Left & Right
Mé4x0.4"(10mm) Brackets to 1st battery
7 External hexagonal | 12 | GB/T 70.3-2000 {1 if;:;c _t)g?tr;r;i‘:t'on Board
Cross screw
4pcs - Connection Board
to 2nd battery
6pcs - Upper Right & Left
2. nn ———
8 M8x2.0""(50mm) 8 | GB/T 22795(7CQ)-2008 ‘ 5 Bracket to wall

2pcs - Lower Right & Left
Brackets to wall

Tools to Prepare




